7\
AY4
n
1]
=
un
L

© 2024 Hansa Armaturen GmbH - www.hansa.com - 13.05.2024

0955220333 HANSATWIST - Wastafelkraan

EAN: 4057304015809
static.hansa.com/0955220333

Reserveonderdelen
SP0955220333
Naam Code

11 Schroef, M5x8, SW2.5 59904755
13 Sierdop Grijs 59912112

3 Schroefring, M40x1 1003409V
4 Binnenwerk, 3.5 Classic 59913075
41 Temperature adjustment limiter 59912325

53 Wasser 59914591

54 Bevestigingsset 59910749
55 Flexibele aansluitingen, L=430, G3/8-M8x1 59913964
5.6 Dichting, 9.5x14.4x2 59912551

5.7 Bevestigingsschroeven, M8x1, L=140 59912474

6.2 Bevestigingsschroeven, M4x8 59913989
6.3 Dichting 59911884
6.5 Schroef, M4x7 59902075

1


https://static.hansa.com/0955220333

